Useful expressions

Aging population and low birth rates in Korea
1. The problem is older people depend on younger ones, not only for care and support but also for the economic productivity that ensures pensions can be paid and health and social costs met.

2. The question is whether increasing life expectancy will mean longer, healthy life expectancy or more years spent in declining health and increasing disability.

3. The elderly will require care. As the retired population grows, the demand for residential and nursing home places is likely to rise
4. In the past, the elderly relied on their families for care but family ties have been weakened. In the future, the elderly will be less likely to be married and more will live alone.
5. What is really needed is wide-scale reform to tackle the burdensome cost of childcare and education that puts many young people off starting a family. 

6. The cost of nursery care in Korea can be four times that of a full-time university student's tuition. Plus, many parents feel compelled by competition to have private tutoring for their kids, even in primary school. An average family spends up to 50% of their income on one child's education so it's no wonder only the well-off can have two or more kids, and the poorest can't even start families. 

7. Without lowering the cost of education, Korea's birth rate will remain stagnant, or in decline.
